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Complete the gaps in the sentences below so that the second sentence is expressed in a different 
way. 
 
Example (Change using a different part of speech): 
There were dramatic fluctuations in the number of people who bought used cars in the UK 
from 1990 to 1998. 
 
The number of people who bought used cars in the UK fluctuated dramatically from 1990 to 
1998. 
 
The cost of relocating a company from the city to a regional location is expensive.  You 
have to build new facilities. (Change using a subordinating clause) 
The cost of relocating a company from the city to a regional location is expensive _________ 
you have to build new facilities. 
 
2. It is highly advantageous to stay in the same job for life. (Change using a prepositional 
phrase.) 
__________ _____ _____ same job for life, ____ ______ _____________. 
 
3. A dramatic change in technology in over the last ten years has led to a decline in family 
communication. (Change using a different part of speech). 
Technology _____  ________  ______  over the last ten years, ______   ____  ___ ______  in 
family communication. 
 
4. Humans should adapt to technology. Humans are inherently lazy.  (Change using a 
relative pronoun.) 
Humans, ______  _________   ______  _______ , should adapt to technology. 
 
5. In general, American businesses will spend much more on relocating companies than 
China over the next 20 years. (Change using a different part of speech). 
In general, ______ ______   _______  ______  ________ on relocating companies by America 
businesses than in China over the next 20 years. 
 
6.  Copyright laws reward creativity. Copyright laws protect the creator’s works of art. 
(Change using a subordinating conjunction). 
Copyright laws reward creativity ____   ______   _____  protect the creator’s works of art. 
 
7. The aging population in America has grown incrementally over the the last 10 years. 
(Change using different part of speech). 
_____  _____   ______   _____   _______ in the aging population in America over the last 10 
years.  
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8. The price of educating children has risen dramatically since 2010. (Change using 
prepositional phrase). 
______  _______, the price of education children has risen dramatically.  
 
9. Family members like communicating through Skype.  Family members can now 
communicate with each other anywhere in the world for free. (Change using relative 
pronoun) 
Family members _____   _______   _______   _________   ________,  ____  _____ 
communicate with each other anywhere in the world for free.  
 
 
 
 
   

 IELTSPODCAST.com BW English Services Ltd © 2016  
 
 



 
Sentence Transformation Worksheet Answers 
 
The cost of relocating a company from the city to a regional location is expensive.  You 
have to build new facilities. (Change using a subordinating.) 
The cost of relocating a company from the city to a regional location is expensive because you 
have to build new facilities. 
 
2. It is highly advantageous to stay in the same job for life. (Change using a prepositional 
phrase.) 
Staying in the same job for life, is highly advantageous. 
 
3. A dramatic change in technology in over the last ten years has led to a decline in family 
communication. (Change using a different part of speech). 
Technology has changed dramatically over the last ten years, leading to a decline in family 
communication. 
 
4. Humans should adapt to technology. Humans are inherently lazy.  (Change using a 
relative pronoun.) 
Humans, who are inherently lazy, should adapt to technology. 
 
5. In general, American businesses will spend much more on relocating companies than 
China over the next 20 years. (Change using a different part of speech). 
In general, much more will be spent on relocating companies by American businesses than in 
China over the next 20 years. 
 
6.  Copyright laws reward creativity. Copyright laws protect the creator’s works of art. 
(Change using a subordinating conjunction). 
Copyright laws reward creativity as well as protect the creator’s works of art. 
 
7. The aging population in America has grown incrementally over the the last 10 years. 
(Change using different part of speech). 
There has been incremental growth in the aging population in America over the last 10 years. 
 
8. The price of educating children has risen dramatically since 2010. (Change using 
prepositional phrase). 
Since 2008, the price of education children has risen dramatically. 
 
9. Family members like communicating through Skype.  Family members can now 
communicate with each other anywhere in the world for free. 
Family members who like communicating through Skype, can now communicate with each other 
anywhere in the world for free. 
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